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1)  Translate the following statement into chemical equation and then balance it.
Hydrogen sulphidegasburnsinair to givewater and Sulphur dioxide.
A) 2HS+20, - 2S0,+2H,0 B) 2H,S+30, - 2S0,+2H,0
C) 2H,S,+50, - 480, +2H.0 D) 2H,S+3CO, - 280, + 2H,0+3C

2)  Take S0ml of water in beaker A and copper sulphate solution in beaker B. Add four spatulas
of ammonium nitrate and fine iron fillings to beakers A and B respectively. State which
reaction is exothermic and which one is endothermic.

Water Copper sulphate
+ +

Ammaonium nitrate Fine iron fillings

A)  Beaker A - Endothermic reaction, Beaker B - Exothermic reaction
B) Beaker A - Exothermicreaction, Beaker B - Endothermic reaction
C) Beaker A - Endothermicreaction, Beaker B - Endothermicreaction
D) BeakerA-Exothermicreaction, Beaker B - Exothermic reaction
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Carbonated water (H,CO,) is an ingredient in soft drinks. A reaction takes place when

carbonated water breaks down to produce water (H,0) and carbon dioxide (CO,). This
occurs when a can of soft drink is opened and some of the carbon dioxide fizzes out.

Theabovereactionisan exampleof a:
A)  Combinationreaction B)  Doubledisplacement reaction
C) Decomposgtionresction D) Displacementreaction

Why is curd not kept in brass or copper vessel?

A) Curdisbasicin nature. Basic substances when reacts with brass or copper metal produces
rustinginthevessd.

B) Curdisproduced by acidification of milk. Thisprocessof acidificationisnot possibleinbrassor
copper vessel. Curdisstoredinglassvessel.

C) Curdcontainsaceticacid. When curdiskept in brassor copper vessal, metal react with acid and
liberate hydrogen gaswhich may spoil thecurd.

D) Curdcontainslacticacid. When curdiskept inbrassor copper vessal, meta react with acid and
liberate hydrogen gaswhich may spoil thecurd.

Why does toothpaste helps in preventing tooth decay?

A)  Toothpasteisbasicin nature. Our mouth containsacid, toothpaste helpsin neutralizingitinthe
mouth.

B) Toothpasteconsist of useful chemicalswhich preventsintooth decaying.

C) Toothpasteisacidicin natureand containsacetic acid. Thishelpsinfighting infectionsand helps
in preventing tooth decay.

D) Toothpasteisbascinnatureand sour intaste. It helpsin cleaning of tooth because of itscorrosive
abilities.

There are four different solutions kept in four different test tubes (TT). What color is expected
when a piece of red litmus paper is dropped in each test tube?

T T2 T3 TT4

Milk in Baking Vinegar Glucose
water powder in water in water
n water

A) TT-1=Red, TT2=Blue, TT3=Red, TT4 = Red

B) TT-1=Blue, TT2=Blue, TT3=Red, TT4=Red
C) TT-1=Blue, TT2=Red, TT3=Blue, TT4=Blue
D) TT-1=Blue, TT2=Red, TT3=Blue, TT4=Red
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A farmer was unhappy because of his low crop yield. He discussed the problem with an
agricultural scientist and realized that the soil of his field was acidic. What remedy would
you suggest the farmer to neutralize the soil?

A)  AddSulphurfertilizerstothesoil B) Addlimestonepowdertothesoil
C) Addbaking sodato the soil D) Addsandtothesoil
In the following reaction, identify the salt formed.
Ca(OH), + Cl, - +H,0
A)  Bleaching powder B) Bakingsoda
C) Washingsoda D)  SodiumHydrogencarbonate
Match the type of salt with their application.
SNo. Type of salt SNo. Use
1 Plaster of paris wW Cleaning surfaces
2. Washing soda X Makingceilings
3. Baking soda Y Detergents
4, Bleaching powder Z Baking
A 1-W,2-X,3-Y,4-Z B) 1-X,2-Z,3-W,4-Y
C 1-X,2-Y,3-Z,4-W D) 1-Y,2-Z,3-W,4-X
Which is correct order as per the reactivity of the metals.
A) Na>Fe>Cu>Au B) Fe>Na>Cu>Ag
C) Cu>Zn>Fe>Ag D) Zn>Cu>Fe>Ag
Recognize the correct equation for the reaction of iron with steam.
A) Fe+HO - FeO+H, B) 3Fe+4H,0 - Fe,O,+4H,
C) 2Fe+2HO - FeO,+2H, D) Fe+2H,0 - FeO,+2H,

Electric wires are made of copper and are covered with rubber like material because.
A)  Rubberisagood conductor of el ectricity and allow current to flow throughit.

B) Copperisagood conductor of € ectricity whilerubber providesthe necessary insulation.
C) Rubber covering helpstoavoid corrosionin copper

D)  Rubberformsoxidelayer on copper wire surfacewnhich sopsthereactionwithair

Several steps are involved in the extraction of pure metal from ores. In the given flow chart,
what is the process X used in the extraction of zinc carbonate and iron carbonate?

Purification of metal
A)  Electrolyssof moltenore B) Roading
C) Cdcnaion D) Reining
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In which of the following groups of organisms, food material is broken down outside the
body and then absorbed?
A)  Mushroom, Green plants, Amoeba B) Yeast, Mushroom, Bread mold
C)  Paramecium, Amoeba, Cuscuta D) Cuscuta, Lice, Tapeworm

Figure shows parts in human alimentary canal. What are W, X, Y and Z?

/;\/

A)  W=0esophagus, X =Largeintestine, Y = Small intestine, Z = Liver

B) W =0esophagus, X = Small intestine, Y = Stomach, Z = Largeintestine
C) W=0esophagus, X = Stomach,Y = Small intestine, Z = Largeintestine
D) W =0esophagus, X = Stomach, Y = Pancreas, Z = Largeintestine

How does bile helps during digestion?
A)  Absorptionof fat B) Emulgficationof fat
C) Digedionof fat D) Assmilationof fat

Figure shows excretion system in human body. Identify the organ which filter extra water
and toxins from the blood?

Kidney
Ureter
Bladder
Urethra
A)  Kidney B) Ureter C) Bladder D) Urethra

Hormones are secreted by endocrine glands and have specific functions. Match each hormone
with their function.

SNo. Hormone SNo. Functions
1 Growth hormone w Devel opment of malereproductive organs
2. Insulin X Stimulatespituitary gland
3. Testosterone Y Regulates metabolismfor body growth
4, Reeasng hormone z Regulatesbody sugar level
A) 1-7,2-Y,3-W,4-X B) 1-X,2-Z,3-W,4-Y
C) 1-w,2-X,3-VY,4-Z D) 1-Y,2-Z,3-W,4-X
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Following figure shows parts of human brain. Which of the following statement is true.

A)  XisCerebdlumandit controlsmemory
B) WisCerebrumandit coordinates sensory input and motor input

C) YisMedullaandisresponsiblefor muscle co-ordination and balance

D) WisCerebrumandit controlsvital processessuch asheart rate and breathing

Which of these is not a reflex action?
A) Sdivaion B)  Secretionof sweat
C) Hexionduetoneedleprick D) Blinkingof eyesduetosronglight

The movement in Figure 1 and Figure 2 are :

Figure |: Movement of plant towards light

A)  Independent of growth

B)  Dependent of growth

C) Figure 1- Independent of growth and Figure 2 - Dependent of growth
D) Figure 1- Dependent of growth and Figure 2 - Independent of growth

The given graph is plotted for V-I to verify Ohm’s law. The resistance used in the experiment
is:

0s 1 15

| {Ampere) —

A 10 B) 15Q C 2Q D) 3Q

How will three resistors (R1, R2 and R3) each of resistance 6Q be connected so that the
combination has resistance of 9 Q.

R1 R1

R1 R2

s

|
|+

d

R3 R3 R2

R3

A) B) C) D)
An electric bulb is connected to a 240V generator. The current flowing through it is 0.25A.
What is the power of the bulb?
A) 100W B) 120w C) 80w D) 60W

1092-A (science, Social Science, Maths) -5- P.T.O.



25)

26)

27)

28)

29)

30)

01-E

Which is the direction of magnetic lines of force acting on a current carrying wire placed in
amagnetic field?

A) dongthedectric current B) perpendiculartomagneticfield

C) oppositetothedectric current D) oppositetomagneticfield

Equal magnitude of current is flowing in following four circular rings. Which circular ring
has the strongest magnetic field at the center?

OO 0 o

Which of the following rule is used to determine the direction of rotation of DC motor?
A) Coloumb'sLaw B) LenzZsLaw
C) Heming'sRight-handRule D) Heming'sLeft-handRule

There are two coils wound on a non-conducting cylindrical rod as shown in figure. Initially,
the plug key is not inserted. Then the plug key is inserted and later removed. What is the
observation in galvanometer?

= 0
KeY Galvanometer

A)  Thereisamomentary deflectioninthe galvanometer but it diesout shortly and thereisno effect
when the plug key isremoved.

B) Therearemomentary galvanometersdeflectionsthat dieout shortly, the defl ectionsarein opposite
directions.

C) Thedéflectioninthe gavanometer remainszero throughout

D) Therearemomentary galvanometersdeflectioninthesamedirectionwhentheplugkey isinserted
and removed.

In the given food pyramid, suppose the amount of energy at fourth trophic level is 2 kJ,
what will be the energy available at the producer level?

il
A

Frog

/ Grasshopper \
/ Grass \

A) 2k B) 20kJ C) 200kJ D)  2000kJ

Rohini is celebrating her birthday and decides not to use disposable plastic plates and cups
for the party because they are made of :

A)  maeridswithlight weight B) toxicmaterids

C) non-biodegradablematerias D) biodegradablematerids
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On the map of India given below, identify the latitude which is marked by the dotted line.
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A)  Equator B) Tropicof Capricorn
C) Tropicof Cancer D) ArcticCircle

If there were no Himalayas, India would have been a desert because -

A)  thehot windsfrom Central Asawould easily blow in Indiaastherewould be no mountainsto
stop them.

B) therewould be no thick forestswhich now cover the dopesof the Himalayas and vegetation
would be scanty.

C) therewould benomountainsand theregionwould be covered by vast stretches of sandy plains.

D) therewould beno obstruction of therain bearingwindsand thereforenorain.

Identify the option which has both statements about Western Ghats and Eastern Ghats
correctly stated.

Options Western Ghats Eastern Ghats
A) They are continuous mountainrange They arenot continuous
B) They arelower than the Eastern Ghats They arehigher thanthe\WWestern Ghats
(@] They extend from Mahanadi valey inthe They extend from Tapi valey inthe
northtill theNilgiri hillsinthesouth north to Kanyakumari.
D) They runparallel tothewest coast of India | They lieperpendicular totheesst
coast of India

The convectional rainfall that occurs in the summer season in the state of Karnataka is called-
A)  Andhis B) Ka Basakhi C) CoffeeBlossom D) MangoShowers

The map of India given below shows the pressure distribution over the mainland of India
and the surrounding seas. The arrows shown on the map are the direction of the South
West monsoon winds. Study the pressure and wind system and identify the season.
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A)  TheSummer Season B) TheWinter Season
C) TheRainy Season D) TheRetreating Monsoon Season
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36) The map of India given below shows the annual distribution of rainfall.
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41)

42)

Inwhichrainfall zonewould youfind Tropical Evergreen Forests? Inareaswithrainfal -
A) above200cm B) between 100to 200 cm
C) between60to100cm D) under60cm

These soils are derived from the basalt rock, high in clay content, retentive of moisture and
extremely compact. This soil is -

A)  Allwid Soll B) Black il C) RedSall D) LateriteSoil
The flow diagram below shows a farming system that Venkatesh follows :
Venkatesh has - Venkatesh does - Venkatesh grows -

I. 1 hectare of land I. Ploughing I. Rice

ii.  2bullocks ii.  Sowing ii. Vegetables

i. Woodenplough | — | iii. Trangplanting — | (both are consumed by
iv.  Seedsand manure iv. Harvesting Venkatesh and his family.
v.  Familylabour Not soldinthe market)
|dentify the type of farming system that VVenkatesh follows-

A)  Mixedfaming B) Commercid farming

C) Intengvefaming D) Subsstencetypeof farming

The Damodar Valley Project was set up to provide multiple benefits. Identify the benefit
which helps in the conservation of water of river Damodar.

A)  Deveopment of fishing B) Generationof hydro-electricity

C) Damstogorefloodwater forirrigation D) Providerecreationa facilities

One of the following methods given below help in soil conservation.

A) Practicingshiftingcultivation B) Pantingtreesaroundthefarmland

C) Encouraginggrazingof animas D)  Allowingrun-off toflow at argpid soeed

Rahul wants to open a savings account in a bank. He goes to the bank and meets the Manager.
The following are the account opening steps explained by the Bank Manager.

a.  Deposttheinitia amount tothe account

b.  Submitthebank account formduly filled.

c Officerswill verify dl the particulars submitted.

d Givereferencefor opening your Bank account.

e.  Fill uptheBank account form or proposal form

I dentify the correct sequence of opening abank account

A) eachbd B) edbca C) aedcb D) b,acd,e

Identify from the list given below the Financial Institutions that fund self-employment schemes.
A) Khatan& Co. B) ReserveBankof India

C) RdianceLimited D) Indugtrid Development Bank of India(IDBI)

1092-A (Science, Social Science, Maths) -8-
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Identify the indicator which is NOT a measure of Human Development -
A) Literacy atainment B) LifeExpectancy
C) Percapitaincome D) Nationd Income

The Panchayati Raj is responsible for the following -

a  Expandonof Ralways

b.  Maintenanceof Nationa Highways

c.  Sanitationand public hedth

d.  Agricultural development and expansonof irrigation

Identify which of the stated functions of the Panchayati Rgj aretrue:

A) Onlyaandb B) Onlycandd C) Onlyaandd D) Onlycanda
Read the newspapers clippings and answer the question that follows :
Dditsaredtill segregated withlittle Ddit manthrashedfor riding bikein
accessto temples, water sourcesand front of asarpanch’shousein MadhyaPradesh
upper castearess........... as per the survey | | ... The Tribune, June 25, 2018
conducted by Times of India, August 3, 2009

Which Fundamenta Right has been violated in the above cases:
A) RighttoFreedom B) Rightagangt Exploitation
C) RighttoEqudity D) Righttofreedomof Religion

From the pictures identify those that belongs to the unorganised sector

A) PRcturesland?2 B) PFictures3and4 C) Pcturesland4 D) PRictures2and3

The two countries which accepted the Panchasheela principles are
A) Indiaand Egypt B) MadivesandSriLanka
C) Nepa andBhutan D) Indiaand China

Identify which of the Steel Plant in India was set up with the assistance from USSR (present
Russia).

A) Tatalronand Steel Plant (TI1SCO) B) RourkdlaSted Plant

C) BokaroSted Plant D) VisvesvarayaSted Plant

A large section of the India’s population are unemployed because -
A)  many peoplearesdf-employed

B)  overdependency onmining andindustries

C) lackof skilled based education

D) abalitionof childlabour
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Read the advertisement given below and answer the question that follows :

6’9

fihn na agd nd bJ
(nXnhiZ g nhb bSH

11 bSHs) hr nhMiZ
Zht His Onvrg
Th XESZrq AnarY hé
Here pre-natal sex
determination (Boy or Girl
before birth) is not done.

It is punisshable act.
What isthe above campaign about? Fight against -
A)  Inegqudity B) Genderdiscrimingtion
C) Exploitaion D) llliteracy

The map below shows a sea-route to India during the 15" century.

I dentify the Significance of the sea-route showninthemap

A)  Columbusdiscovered thisrouteto reach Americaand boost trade and commerce

B) Discovery of thesearouteto Indiaviacape of Good Hopeincreased trade between Indiaand
Europe

C) MarcoPolosaledthroughthisrouteto reach China

D) IbnBatutatook thisrouteto reach the court of Delhi Sultans.

One of the following option is incorrectly matched. Identify the incorrect match.
A)  Periyar - Templeentry movement B) Dayanand Sarasvati - Back tothe Vedas
C) JyotibaPhule- Gulamgiri D) Vivekananda- Theosophica Society

Tipu Sultan and Hyder Ali invited the French experts to modernize the army and to improve
the quality of the artifacts to gain better share in the market. The French wanted to help
Tipu Sultan because the French -

A)  werefighting against the British bothin Indiaand America

B) andTipuweregood friends

C)  wereunhappy withtheother native chiefs

D)  wereimpressed by hismilitary organization.

The images given below are of Rani Chennamma and Rani Laxmibai. They fought against
a policy introduced by Lord Dalhousie. Identify the policy for which they fought against the
British.

A)  Subsdiary Alliance B) Doctrineof Lapse
C) Dyachy D) Mahdwari System
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